Assignment Worksheet

Study the two plans below and then decide which plan you will

recommend to your friends.

	Plan A                                    Plan B

$ 5.00 admission                    $ 10.00 admission

$ 1.00 per ride                        $ .50 per ride


Which plan will you recommend? ___________

Why? (be specific and write complete sentences)

______________________________________________________

______________________________________________________

______________________________________________________

______________________________________________________
Calculate the total cost under both plans for riding 0, 1, 2, 3, 4, 5,

and 6 rides. Do this without a calculator.

	Plan A                                          Plan B

	Rides Total Cost                         Rides Total Cost

	0                                                    0

	1                                                    1

	2                                                    2

	3                                                    3

	4                                                    4  

	5                                                    5

	6                                                    6


Describe how to find the total cost of going under Plan A and

riding any number of rides.

The total cost will equal _____ plus _____ times the number of

rides.

Describe how to find the cost using symbols only!

Use Y to equal the total cost and X to equal the number of rides.

Y = _____ + _____X

Describe how to find the total cost of going under Plan B and

riding any number of rides.

The total cost will equal _____ plus _____ times the number of

rides.

Describe how to find the cost using symbols only!

Use Y to equal the total cost and X to equal the number of rides.

Y = _____ + _____X

1. If I ride 9 rides under Plan A, it will cost ____________________.
2. If I ride 9 rides under Plan B, it will cost ____________________.
3. If I ride 30 rides under Plan A, it will cost ___________________.
4. If I ride 30 rides under Plan B, it will cost ___________________.
5. If I spent $15 under plan A, how many rides did I ride?_________

6. If I spent $20 under plan B, how many rides did I ride?_________

7. When would it cost the same under both plans?_______________

8. Explain what you see on the graph that shows you this.____________________________________________________

9. When would it cost more under Plan A?_____________________________________________________

10. Explain what you see on the graph that helps you to

determine this.____________________________________________

11. When would it cost less under Plan A?_____________________________________________________
12. Explain what you see on the graph that helps you to

determine this.____________________________________________
13. Comparing the graphs of Plan A and B, which of the lines is

steeper and what does this mean as it relates to the total cost?___________________________________________________
14. Predict what the line would look like if you graphed the

following situations:

a. a plan that has no admission price and each ride is

$3.00__________________________________________________
b. a plan that has $25 admission price and no charge for

the rides________________________________________________

c. a plan that has $5 admission price for 3 free rides, then

$1 for each additional ride_________________________________
